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6. A lorry contains 8316 sweets. A bag of sweets contains 42 sweets. How many bags of
sweets are there?

7. A local football club’s full attendance equals 6368 people. If there are 32 rows of seats in
the stadium, how many people sit in
each row?

8. A local charity has raised £7850. They want to share this money between 25 good causes.
How much will each of the good causes receive?

9. Acinema, when full, holds 6572 people. If 53 people can sit in each row, how many rows
are there?

10. After selling all of his grapefruits, a greengrocer's takings are £89.10. Each grapefruit costs
54p. How many grapefruits did he sell?
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